gbboboogobbodood 4

10 Uootbtudbobobtdtdod
HRN

1.1 0O00o00oognd

(0oo)
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1.2 00000

gogbbobuooooboobo,goboboog200bo00,

d,V,

dt

gobooo. oo, MUbgooooboobooboboboobob,bdaed

gobbuooobbuooobboodobbbooo.bbooob,ooobboo

gbogbuogboogbooboobob,obuggbuogobooboobobn,

gobbuooobbuoodob.bood,buogobbuooobbuooobboo

gob,gdgbobogobbuoogbbooobbb.ogobbuooobbod

oQobooo,gooboobobo v, 0oboobobobobovioobooo
gooooboog.oboo,

=M (1.2.1)

Vo=V +Qxr (1.2.2)

gob,-0b0b0b0o0ogbbobogogbbbooooboobog.

D0000000000000 41,145,435, 00000000000000 4,4, 44
0000D,0000000 AQ02000000

3 3
A= Ayin =) Ay,
n=1 n=1

gooo.bogoobooo,

dA A dA, .
it L ar
3 ’ 3 .
dAn'/ /dln
=2 gt A
n=1 n=1
00D0.0000000000000000,dd,/dt=Qx4, 00000000,
d.A dA
2 _ T OxA 1.2.
i a T (1.2.3)

oo00. 000,d,/dt0 000000000000, d/de0000000000
gobboo.gbo,gobbuoodgbbboodgbbooobobbuooobboo
oo0,00b00b0obobooo0exA0fbDobOobooooooooo.

(l23)0000oooooooo v, 000,000 v,0 (122)0000 vo

ooooo,
d,Va d(V+Qx7)

dt dt

+Qx (V+Qxr).
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gooobooooboeubobobooooooo,

d,V, dV
7 —%+29><V—|—Q><(Q><r). (1.2.4)

goo.

gooooooooboooo,gooob,ob g, 00O FODODO. DOO
000 (1.24)0 (1.21)000000,0000000000000O0O0O0OCQOO

g

d
d_‘t/:—an—QQxV—i-g—i-F (1.2.5)

O0000.000,«000000,00¢000000¢,0000 —Qx(Q2x7)
O00000.000020 —2@xV O,00000 (coriolis force) 00O ODO.

1.3 0000

0b00booob, bbb o. oo, oobooboboboon
00 dxdyo- 000000000000, DOODODOOODOO, O (x,y,2)00
gogobd. gbuobd bbb oobobouoban
oo, guobogboboooobobo. ogbbooobooobooo
[pu—(@pu/ax)%] dydz, 00 0000000000000 [pu+(8pu/8a:)%] dydz
god.oub,000000000,0000000000000O0DODODOOO
00, -d(pu)/dz 000. 000,0000000000(00)00000000
gdd00000000000. 000 200000000000000,

dp

5 =
O00.0000,0000 (continuity equation) 00000 . d/dt =0/0t+V -V,
V. (pV)=pV.-V+V.VpOOOOOOO (136)0000000,00000
gogooooooobobbboooood.

dp

L _ WV V. 1.3.
o oV -V (1.3.7)

-V - (pV) (1.3.6)

1.4 0O00O0O0OO0

ddooooop,e, 00000, 0b0ooooooob,ooooao
f(p.a,T) =0 (1.4.8)

main.tex 2011/08/13(00 OO)



gbboboogobbodood 7

gogodooooa.oooooooooboobooooobobob,bobboooon
guddddodo.oooboo,jddddddudoouoobobobobooooon
gdddooooooooo.ooobooboobo,goboooobooboooooon
000000000000, 0D00,0000(deal gas) 0, 000000000
gogooobobobbbbgoooooo. bbb, nbboooooooooo
gooogd

pV =nR'T (1.4.9)

000000. 000, R(=831447 JK 'mol YOO OOOOOOOO. OO0
00000000, (149 000000000000000000000000,
000000000 D0O0000DoO.

gogbboooobbooga,bbouoobbbuooobbuoobobuooonon
gobobooobbooobbo.gogbbooobboooboboboo,bod
ggbbpbbuoooobbtpoobbb.oogg,

pIZPk
k

oooboooo Vv,b0k00DbO0ob00ob0 M, DOOoDOoOoooDoO me0OO
g,bboogggbooo

M,
= R*T
Pk iV
gogooo. oo,
M,
T M M me

0000. 00000 m=S M/ My/m;000 a=V/SM,000000,
gobboboogbboooo
pa = RT (1.4.10)

000.000,R=R/mO0000000000OOOOOO. 00000, m=
2897¢gmol ' 000, 0000000000D000D0O00O0 R=287Jkg ' K™!
ooa.

1.5 0000000

ggbobobbbod,gogbobbbbuogooob.ooo,obbbbodo
gbobogboboobodgbogbogbboobooboobooboo.bbo

main.tex 2011/08/13(00 OO)
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gobob,dbboodgbbbodgbobbooobboo.obbuooobboo
goboobog,buggbugobbuoboobbuoooobbuoooboboa
gbobobgbbodobobooobboobouooobooobboob.boo
gob,gdbboooobobobogobbooobbooobbooobob.od
gbbodbb,0bodbbooboobobuoobbuoobbuoobbodgbobo
gobboodo.gobobo,gbbbuoooobboooobbboooobobod
gggobobboooboboo,bbbououoooobbbbbbboodggoaad.
gobo,bbbdogogogo,bbobbdoooobboobbooog. bobbogd
gobbuoodbbboogbbbuooobbbooobboooobbooad.

gbobbobobobooboobobobo,boboboboobobobo

gobooogo.
dl

Q:%er
oodd,QUi0fd00f000f00000fd0fd00ddd0ooooooooooOoO,wooad
O0000o0o0ooooooooooooo,d/d00000oooooooood
0000.000000,000000000000000000080 ¢,dT'/dt0O
ogooodoooo. ood, e, 000doooo. oo, 0o0boooooooon
0000000000000 0000000000000 pde/dtDODO. OOO
ogoodd,0oo0ooooooooon,

dT da
QZCUE +pE (1.5.11)

gogo.

(1.511)0,0000000000000000000000O00O0DO0. ODODODO

0o, (15110
-, AT do
:CU_ _—
a P
000.0000000000000000 (1410)0000,a0000000

EEN

dInT Rdlnp
= C —
Poat dt
goo.oo0o0,00000000000¢,=c,+RO0O0O0O0. 00000000,

T = C pft/er, (1.5.12)

00 coOooOOobOobooOooOobOoobOobDOo.0oboDoboo p0OobOobO
geoo0o,00cCcoooogn

0 =T(po/p)", k= R/c, (1.5.13)

main.tex 2011/08/13(00 OO)



gbboboogobbodood 9

oood. 00,000000 pp000000ODODODO 1000hPa00OO0OO0O0
0. 00 #0000 (potential temperature) 000 00. 0000000 AOOODO,

(15.11)000000,

d(lnf) Q@
= — 1.5.14
dt cp T ( )

000. (151400000000 (Q=0)000000d§/dt=0000000
0,0000000000¢0000000000000000000000

O0000000000000, (1.5.11)00000000000.
dT dT dp
dt Pt dt

gob,q0boobbodb,/booboooboobbuooboboooboo, L
oboo,qgU000000o0o0oob0. 0,QUUbOUbOo0obObooboooboboobO
gooo.

d
Q—Lﬁ—ql (1.5.15)

1.6 OUOOO0OOOoO0ooodoogdon

00000000,00000 (1.25),0000 (1.36), 00000 (1.4.10), O
000000 (1.511)0,60000000000600000 p, o, T,u,v,w00
0000000. 000 FOOOOOOQO,0000000000000000
000000000000. 0000000000,0000000000000
000000oo0oo.

gbbooboogbobodbooobuoobboobo,booobuooboba
gobobuooobbuoogbboo.gbbo,obbuooobbuooobbod
goooo.

ggodgooooboobbbbo,ogoooooooobbbobooboob. gog,
googoobbbbbbobobbbbobododdooouooooooo. oogo
oo000oooOOooOoOO0OO0,00000 (125)0000000000O0OODODOOO
ggbooogoobn.

2l:i—/tﬁ:—ozvp—f><V+FH (1.6.16)
dp

— 2P 1.6.1

0=—a- (1.6.17)
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000,Vy000O0OO0O0D0O0OO,vO0200000000,F,00000000
000000.00 f=/k000, f(=2Qsing) 0000000000000
Ooooooo)ooO.

1.7 ODUOO0O0oboooooon

000000000000 00000D, 0000000000 ooooooo
0000.000000,0000000000000000000000000
0000000000, 0000000000000 000000ooooon
000,000000000000000.00000 (1.25 000000000
000,00000000000000000000000000000000O0
oo™,

00000000000 (q1,¢2,¢3) 00000 u=Aqe=6,¢s=r=z2+all
000000.000,M¢,1,a,:000000000000000000000
0000000000000000000000000. 00000000000
ds;, 00000000000 A/L,OO0D00D0000.

dsy = rcosdX, dsy=rdp, dss=dr.
hi =rcos¢, hy=r, hy3=1. (1.7.18)

O00,0000000000000004,45,k0000, 000000V =
wi+vj+wk000000000000D0O0O0OO

dsy dA dss do dss dr dz
TR e T TR e T T (1.7.19)

u

0000000000000 0000000®000000000000000
oooo,

dVv. o0V uv UW N\
E_W—F(V‘V)V—i_ <—7tan¢+7>z

u? uw \ ~ u2—|—v2 ~
—l—(—tamb—i——)]—l—(— )k:
r T r

0000000000000000000000000000000000,00000000

gboogbogoogoogan.
*2

v av; ViVi b ViV ol .

v _ V.V 9 A | g, 1.7.2

dt g:<m'* VV>+2X@ma@ mma%ﬂe (1.7-20)
00o0oooooolooooooog,l=:000000000000000000.

main.tex 2011/08/13(00 OO)
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go,goobooood
20 x V =2Q(j cos ¢ + ksin ¢) x (ui + vj + wk)
=(2Qcos p w — fu)i+ fug — 2Qcos ¢ uk

00000D0.00000,0000000000000000000 (1.25)00
gogoooo.

du 10p

> - _2ZE inoé — F

dt p Ox + +Tcos¢)(vsm¢ weos§) + B,

dv 10p vw

= 2P ing— — + I 1.7.21
dt p Oy ( +7’cosgz5)USln(25 r T L (1721)
dw 10p u v?

w2 9 Y LF.

dt p Oz + +rcos¢)ucos¢+ r *

000,000000000000000000000 fO0000O
df _0f 0fd\ 0fdo  0fds
dt Ot oxdt  O¢dt Oz dt
of of of  Of

000. 00, (1,4,2)0000000000,00000000,0000,00
ggoobobbbooogooob. bbb bboooooboooo
O000000000000000,000000000 (Phillips, 1966). 0000,
d

%[rcos¢(u+§2rcos¢)]:rcosgﬁFA* (1.7.22)
DDDDD*3.DDD,F;DDDDDDDDDDDDDDDDDDDDD.

gobooobogoobooobooooboo,bbor0bbooobboobobo
gobbecbO0OO0oobbooobbbuoo.gobbbogo,bbooobbod
oooooo, (1L.7v2)o00000b0wOODOODODODODODOODODOODODODOO.
00000o0o0o0ooooo (1.722)0, 0000000 r0«0000O0OODO.
00000000000O0OD0O00000oooO, (k1) D00D000ODOODO
0000000000000, ™ 0000 (1.72)000000000000.

du 10p utan ¢

- ;% + <f—|— . ) v+ F, (1.7.23)
dv 10p utan ¢

- = = F. 1.7.24
dt p Oy (f+ )u+ > 2y
dw 10p

B F.. 1.7.2

"(1.721) 0000000000000, rcos¢p000000D0O00O0OOODOO.

*(1.721) 0000000 wOODODOODOOOOOO0,00000000000000000
000000.00000000000,w000000000 2Qwcos ¢, —uw/r, —vw/r 00
0000,0000 2Qucose, u?/r, v?/r0000000.
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oo0,0000000000 f=20sine0000000O00OO0OOOODO. O
00000000000ooo0OO (1.722)00000000O,0000000
goooo.

gobbuoodobbbuooobbboodobboooobbooooboboad,
00000 dw/dt0000000C0O0O00O0.0000,00000000 (1.7.24)0
ggoboobod

0=—-2P_ (1.7.26)

gogo.

O0,00000000000 (1514 0000000000O0ODDODODOO,O
gbooboobobboboobuoobooboooo.

4_0_ _wvw o0 vo O
dt Ot rcospdN 1O waz

main.tex 2011/08/13(00 OO)
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1.8 0OO0O0OOOO

000000 (0000000000 00000000000 DODODOO0OO0O
gbobooobodg. bboobooboboobobooboobbo,bodobp, 0O
0000 In(p/p), 00O O0O0D0ODOOOO0ODODOOOOODOOOOO o= p/ps,
oooOoenoDoO.

AZ

Oo0o0o0oooooobD ¢oooaoo.
(O0bOooOoOoooooboooooa
OzO00O0OOOOOoOoooOo. 000
00000 (0 (x,y,2,t) 000000,
do0oooooobo ¢oooonog zd
(z,y,(,t)D0000O0. 00O0O0OOO
(0000000) 00000 0,00
000000000 o(x,y,2,t) 0000
o (r,y, () 00000000000, O
0181 00 OOOOOOOGO4 D00 00000000000 0O0O0O
ooo. ooooooo,

Xy

d(aj? y? C? t) = %(.T, y? Z($7 y? C? t)? t)

O000.01810000 2z 000030 A, B,COO00O,0 000000 &
00oo00doo,0 ¢bo0b00b0o0boo0booobDoOooDoOoooO. O A)B
0000 0000000 A0O0O 00000000,0000D00000000
goooo,ooooooooon,

A (B) - od(A) _ (C)—(A) (C)—o(B)ACA

Az Az AC Az Ax

(1.8.27)

O00.000,4(A)0000000C0ODOODO,0 AD0D0COD0 yOOOOOO
gg.

(1.827)0000,Az 00000,
o\ _ (o0 0570
ox Z_ ox ¢ 0z Ox

gbob.uogbbtud«0y0todbbuognbbug, s=wx,y,t 0000000
00000000, (00,0 A00000O0O00OO.)

0A 0A 0A [0z
(2) - (2) +2(2), Lo

main.tex 2011/08/13(00 OO)
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ggbbobuoooobboooooboo.

DA 0ADz DA DA

=80 Bs =8 (1.8.29)

(1.8.29)0 (1.828) 000000,
DA\ [0A\  0AdC
(as)g"(as)z+'ageh ( ) (1.8:30)

O00.0000s=2,y000000,A0D0Q0Q000O0COOOO BO200
gbod 0000 ¢oboonoooobooon.

B DADC
VA = V.A+ +5e 9, Ve (1.8.31)
9B d(
VC'B = V B 8C8 VCZ (1.8.32)
s=t0000,
04\  [0A 9A D¢
(EX— (5) e (5 ) 155%)

goo. oo, ¢boobobooboobooa,

(1.8.34)

dA  [0A
-\ ot

Y Lv.vA

dt ) HVVe +Ca¢
0000. 000, VO0O00000000,¢=di/dt0 (0000000000
00. AD00O0COODDD,00000000000000000000000
Doooo0O000000.

ooboooobooooobo,boob 000 ¢oboobooooboogon
00000, (1.831) 0000, 0000000000000 O0DODOODODODOO.

0
—aV.,p=—-aV¢p+ aa—fvcz = —aVep — V0 (1.8.35)

obo0,¢=¢:000000000000. 0000O0,¢OO0DbDO0bDObDObnO

gbobooboooo,

av
E = —OéVCp - VCCI) — fk x V. (1836)

(1.829)0000,00000000,0000000000O.
3p8( 8p 0P

a—C% +g=0 or C < =0. (1.8.37)

main.tex 2011/08/13(00 OO)
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gt z0b0b00004a40n

d(Inp) dw
S AV Vi om =0 (1.8.38)

0¢000000000000000. (18290 (1832)0000,0000

(9w_ (9(6’V Ow O¢
V V+ VC \ %4 VCZ+8C82

o e (1.8.39)

gogbooda. ggon,

ot 8§
0o,
ow 0 (0 dz 0V 8C8z .0 [0z
5 =a o)V Voot Vet o o (ac)
O00D. 000 (1.839)000000,
8w_ a¢ 0z 0C
V. V+82 V- V+a <8t+v Vg+C C>3C+8C

00000 (1.838) 000000000, 00000¢00DOOOOoOOOooO
gooo.

d op 8(’_
—(1 ‘ag)+v§ Vi ge=0 (1.8.40)

000000000 6#000000000000,00000 0000000
00.0000,

dInd
T —= 1.8.41
Cp dt Q ( )
noooo,
dr _ _dp _
— = 1.8.42
ooo.

ooboobooooobooobooboooooo,bbob¢coboobogn
gogbobobooooobooooboo.

main.tex 2011/08/13(00 OO)
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1.8.1 0OOOOO

(=p000,Vyp=V,p=0,0p/dp=1000.000,00000 (1.8.36),
0000000 (1837)00000000.

dV
— = ~V,®— fkxV+F (1.8.43)
od
- = 1.8.44
% o (1.8.44)

0000 (1.840)0,¢(=p000000000000.
Vy VA4 =0 (1.8.45)

000,w=dp/dt=p0 p0 00000000000, p0000000000
00000000000000. 000000w=0000p=00000000
p0000000,wO0O00O00O00O

P
W= —/ vV, -Vdp (1.8.46)
0

ggb.god,bbbbp=00000w=000000000. 000000
gogooobodg,bboboogobbboooobbobooooooboobooag,

dps  Ops
= 2P V.- Vp.. 1.8.47
We=gp T or TV VP ( )

(1.8.46) 0000 ps(z,y,t) 000000, 0000000000000 0O00O0O

8173 Ds
D Ly, Vp,=—| V, Vdp (1.8.48)
ot ;
ogod.ooo,o0ooooon dp/dtDwDDDDDDDDDDDDDDDDD

go.

»000000p0000000000,0000 (1.845000000,00
(1843) 000000000000 DOO0OODOO. DOOODDOOOO, pod
000000000000000000000000000000000.
ov, 0®

1
=——kxV—
dp f dp

1
Vg = —?k X VCD,

main.tex 2011/08/13(00 OO)
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1.8.2 o000

c00000000000000 p,=ps(z,y,t)00000000000.00
00,

U:p/ps~

gobo,ggobbboooobobooogbn.

—aV,p=—aV.p+ a@vgz = —aV,(ops) = V,P

0z
aVU(UpS):OzJVpSDDDDD,DDDD cOUOO0OOOOODOO (1.8.36)D,
ov ov RT
AV OV, V46 = -Vep— —Vp,— fkxV+F (1.8.49)
825 aO' Ds

gogo.

0000000 (1.8.37)0, dp/do = d(op,)/do =p, 000 DD000000,0

o0d
— +aps =0 1.8.50
do ap ( )

goo.

00,0000 (1.840)00 100 d(ndp/do)/dt D00, dp/do =p, 0000
0,c00000000000000000.

d(Inpy) il

V, V+—=0 1.8.51
dt * +80 ( )
cO0000O0O0O0OOODODOODOOO,010p/ps,00000000O0OOODOOOO.
aps aps 80_
V. s s U'V 3_:0
T + Vp +060 + psV +p 9%
ood,p,0cOddoboooooboooobooooooonog.
Ips d(ps0)
=—-V, (p,V)— ——= 1.8.52
o (psV) 50 ( )

0000 6=do/dt000000,00 0=p,/p,=100000 0=0/p, =0
0000 ¢=0000.000000000000,(1.852)000000000
ooooooo,

1
p: _ —/ V- (psV)do (1.8.53)
ot ;
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gogb.obb,ogoodobobbbuooodobbobobuoooo. oobbobodao
c=000000000000000,000c00000000O0c0D0OOO0OO0

oo0ooooo.
Ops

o +/ V- (psV)do = —pso (1.8.54)

ot 0
Ops/0t0 00 (1.853) 0000000, (1.854)0000s00000DODOODOO
0.00000¢0000,00000(1.849)000000 60V /ocOOOOO
gogbobobooooboobooooob.bbooooobbo,sdobbbod
goooboooboo v,rogbogdboobooboobooboboboobooo.

000000 eé=0000000,s=1000000000((COO0O0ODOO
000000)00000. 0000000000000 000 pO0OBOODO O
gobboooboboob.bog,bbuoogbbuoogbbuoodgbbetd
000 (1.853) 0000000000 ong.

1.8.3 6000

gbhoobgboobooboobobbobo,930-1%40000bogbDd
gbbodgbbodo. bbggboogbobooobooboogb,19udobood
gee0bODODODOD. fOODOODOODOOO,0D0ODODDOODODLDODOO
gbbodbbogobuogboboob,gbbuogbooobuoobbuoobobo
gd. gobo,obbbbobbbodudoooooobbbob. bbodagg,gd
gbboogoouogboboobuoob,gbboobooboooboob. bon,
fopoopboobooooooboboon.

ooooooooooeoOobDbOOOO,

9p

62 V@Z == —CYVQp — ng) (1855)

—aV,p=—aVyp+ «
ooo,0000000

0 = Vylnd = VylnT — ?Vglnp

P

00000, —Vep=—(pe,/RT)V,TO0D. 0000000, (1.8.55) 0
—onZp: V@(CPT) —ng)

g0o0.0000b0,s000DbO0Ob0OO0OOODOODODODODO.

‘98_‘; V.Y,V g‘aa_g — Ve, T+®) — fkxV (1.8.56)
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000,67+ =MO0000000000000000 (Montgomery stream-
function) 00 00O 0O.

fUb00OO00OOOOOOOOOOO,0D00O00O00OOO0ODOODOODOD. O
ggbbobooooobbod,

1 10T R Jp

0 To0 pc,od
000 0000000000000,

op _9pdz 00
90 o0-00 o0

o0o0.0000ooooebOobOobbOOobOOonDO

0 c,T
— (¢, T + @) = 22— 1.8.
ooo.
O0e0000D0ODOODO (1.8.40)0O,
d op o0
a(m%>+vwv+550 (1.8.58)

O000.000¢000004d/dt00000OO0O0O0DODOOOOODOO,0000
000000 oop/0t0 00000000000 oon.

D00DO00 (1841) 00000000000 O00ODO0O. 000000, O
00060 =60,,0060=0,000060=6,00

00,

=%

+V,- Vo,

goo.

main.tex 2011/08/13(00 OO)
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1.9 000000000

gbbooboogbbogboo,boobuogbbodboobobuooboo
gboogbo.boobdoobooboobboobooboobuooboobbo
g.gbboogoobbuogobbooobbuoooboooobb,oobboo
gobogooo,bbogbbo,bboobboobboobboonbon.

1.9.1 0O0O0OO0oOooo

0000000000000000000000,000000VOO00O
00000000000000000.000,0000000000
IK 0K oK
@ Yy YV E+wl - V.VO+V.F 1.9.59
a ot vt @t (1.9.59)
O0D0. 000,K =V?%2, V.-FOOOOODOOOOOO. 00000000
000D000D00,000000000.0000000%0 KOOOO, (1.9.59)
00ooo
oK d(Kw)

Gr TV (KV) 4 =52 = =V, (BV) £ 0V, V4 VA F. (1.9.60)

gg,buoggobobooggbobdag3gn,

o dw Owd) 0
WV, V= b= o S ey

000. 000, 8¢/0p=—-a=—-RT/p00000,000000000000
000000000000000.

0K O[(K +®)w]  RT

4tV (K+ V] + ——— = =+ V.F 1.9.61

5 p [ V] 9 P ( )
0000 1000200000000000000.00,0000 1000 20
000000000000000000000.

»p0000000000,
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1.9.2 0O0O0O0OO0OOO0O0O0O0O0O0

gbboobbgoobboobboobboob. obooobboobbo
gbooboobobbobooboobo PO,0bbOODOODOODOO.

o Ps d dplP 1 [P 0D
P :/ gzpdz :/ @ _ {_p] — —/ p—dp
0 0 9 9 1o 9Jo dp

gobo.odgd,gddbbooobboob,oobboogbboo. bbb
ggbbbuoooobboboooad,

®S s 1 Ds
p=— —/ RTdp (1.9.62)
g 9 Jo

goo.

O00000000000000000000000DO0AO (internal energy)! O,

0 Ps o Td
I:/ chdeZ/ ke (1.9.63)
0 0 g

ooboo0oo0o000e+R=¢,0000,0000000 700000000000
oooooopODOOOOOOOODO.ODI+POODODOODOOOOOOO
(total potential energy) D0 OO, 00000000O.

Ps
P+I=g"! / Edp + g ' ®,p, (1.9.64)
0
000,E=¢T0000000 (enthalpy) 00 0.

gobboooobb,ogbbboooobbbooobboooob, oo
gobbuooobboogobbooobobbuooobbooobbo.ogno,d
000000000000000000000O000,000000 (1.842)00
gogoobodagd.

oF OF RT
V. E D 1.9.
8t+V Vv, —|—w8p pw—l—@ (1.9.65)

D0 p0000000000 EOOD,(1965)000000000,0000
0000000000 000D0onO.
OE OE  RT

E—va‘(EV)_’_wap =, w+Q (1.9.66)

main.tex 2011/08/13(00 OO)



gbboboogobbodood 22

(1.9.61)D(1.9.66)DDDDDD,RTw/pDDDDDDDDDDDDDDDDD
gobo0oooobo. ooooboooooooooooobooooocobnoogon
g, dddduouououoo. oguououou. oo ouoduo
ogoouo,doogooododouoooooououooonooooon. o
guodooo,ggodao K—i—EDDDDDDDDDDDDDDDDDD(1.9.61)
D(1.9.66)DDDDDDDD,DDDDD.

O(K + E)

ot 2[(K+E+<I>)w] =Q+V-F (19.67)

+V¢KK+E+@mﬂ+%

oo, 0ddobodoooooooouoooooo. booobooooooa
O pdxdydz = —dzdydp/g0 0000,

///Ops%(KJrE)dpd:cder//opsv.[(K+E+¢)V]dpdxdy
+ [+ B+ 0ludody = Q4 VF. (1065

= ///( )pdrdydz = ///OPS( )dxdydp.

Q000000000000 0000000000000O00000n,VvV.-FO
0000000000000 0000000000oU0Oo0Oon. 00o0oo 300
000000D000000000.00,000009/0t0vV-00000000
0000000 p00000000000000000. 000000000 p,
oooooo,

//{%/Ops(KJrE)dp_aaps(KJrE +V/ (K + E+ ®)V]dp

—wkKK+E+¢W1+KK+E+®M§M@:Q+VHE

ooo,

(1.9.69)

goo.

D,atDDDDDDDDDDDDDDDDDDD gb,b00ggoooodd
DDDDDDDDD(DDDDDDDDDDDDDD),DDDDDDDDDDDD
gg3bbobuoooobbbuoogobbooo.gboboba,gbbobood

9
o+ E) - // B+ o)V, (1.9.70)

(K +E+ <1>>Sws]}dxdy —Q+V F.

00 f(z,0) 0 a(e) 00 b(e) 000 2000,00000 «00000000,

d [ _ db(a) da(a) b(@) 9
T /a(a) flz,a)dx = Fb(a), a) = == f(a(a), o) +/a 9 f(z,a)dx
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O0O0. 0000000 (1.847)0000, dp,/ot+V -Vp, =w, 00000,
(K+E),0000000000000.00, ®y(ws—V -Vp,) 0 &,0p,/0t000
000000000000.000,0000000000000 (1.9.70)000
ooooo.

04— — 1l— - —

000, ep,000000200000000. (1.9.7)00000000000O0
0(1.9.64)000000000000000O0O0OOOODODODOOOOCOOO (OO
00000d/dt)000. 00, 000000000000000000D00OOO
00o00o0o0o0oO0O0O0O0ODODO. 000000000000 oooD (19 "Hyoood
ggobob,g0obbbooooon.

1.10 UU0ogoogog

0000000000000,0000000000000000000000,
0000000000000000000000000000. 00000000
D000000000000000, Lorenz(1955)0 000000000 (available
potential energy(APE)) 00 000000000. 0000,0000000000
00000000000 7000000 (00¢000000)000 00000
0000000000000000000000000000000000000
000000000000000000. (1.961)0000,0000000000
D000000000000000000000000, —(R/g) [[[(Tw/p)dzdydp
000000000.000,0000070 w0000 Tw(=Tw +Te)000
0000000000.00000000@=000000,0000Tw=T4u
000. Loenz0OOOOOOO0O00000000000O0O0OOOOOOOO,
Tw=0000.00,0000 (1845 00000000000,

// dxdy = //wd:z;dy = /// V, - Vdxdydp (1.10.72)

000.000,00000000000000000000000000000
0000000000,0000000000000000000000000.
00000,00000000000 [V, -Vdedy=0000 0=0000.0
0000,00000000000000000000000 Tw=To=000
0,00000000000000000000000000000000000
0ooo.

O00Oo00ooO0ob0 A00o0oOooooooOooOooDOoO0.ooboOooDo
000000 p,=1000hPa000. OO,0060=T(ps/p)"00000. OO0
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0,000000000000 (1.9.64)0

Ds @s s B B Ds @s s
TPE =2 / Tdp+ —F= — O / Opidp + —L
g Jo g 0 g

DDD.DDD,/{:R/CPDDD.DDD,DDDDDDDD
—Kk Or
Cps K] Ps 14k q)sps
T]:’E:p—{ﬁp1+ —i—/ p+d9}—|—
g(1+ K) [ ]0 0s g

000.0000000,000000000000000000000-000
oooo,

TPE = % / pIFRdf (1.10.73)

goboob,dbboooboboboogob.buogobbooobbooobboo
goodbpiDO0b0ODL0O0D LerenzODOOOOODOODOODOODODO,O
00 APEDO (1.10.73) 0000000000 TPEOOOOOOOOO.OOOO,

A= g(cfﬁs— 3 /p1+n —pirRdg. (1.10.74)

000000000000000000,p=p+p 000 p+00000000

o ek e o KL R)pTp?
P = (g p ) = PR (14 k)P + o 4o

000.00000000000000000000000. 00000 (1.10.74)
oooooo,

_ 1 o —
A= Creyni" / 5 7)o, (1.10.75)
0s

O0000,000APEOODOOOOODOOOOODOOOO.ODOODODO,O
000000040000 T7T)0000000000000. 006070 pOO
gogboooogn,

p=pl0(p)] and p =p@—0)—pd) =—600p/860 .
000, (Y /p)? = (1/5*)(0 dp/d0)? = (1/p*)(0)? (95/00)> DO O, (1.10.75) 0 O

oooooo.
o1 or g (0P
A=—kepg 'p" | =02 =) df
QKCPg Ps /9' ]5 (@9)

S

(1.10.76)

e (5 (3)]
29p% J,, 0 op
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ggooobooad,

op kO 1 oT /
_— = — s = -, = C
90 va p Y- " gz I

0=T(ps/p)" and 0 /0 =T )T
0 (1.10.76) 000000 ADOODDOODODOOO.

— / 2
1 [P T T
S —_ | d 1.10.77
2/0 %_V(T) . (1.10.77)

DODO00000~=2y/3, T?=(15K)?00000000,

o

A/TPE ~ 1/200 (1.10.78)

gob.obogdg,buggbboogbbbuooobboobbbuooobboo
%00000. 0000000000000 0000DO000D0O0O KO TPE
gobooo

1 [P c
K= —/ Vidp, TPE=—- Adp 1.10.79
29 Jo gR Jo ( )

000.000,2=c¢RT/c,000020000.

V/ie~1/200000,0000000000000000.
K/TPE ~1/2000 and K/A ~1/10 (1.10.80)

gbbob,gbbuoobbuoobbuoobbuoobogbbooboboooboo
gbbodbboogobuogboboo,ugbobuogbooobuoobnbuooboo
gogobi1oobbbood. bogoooooobbbbboooooo, g
OO0 APEOOOOOOOOODOODOODOOODOODOOODOODOODO
ggbobooogboboobod.

O0ooooooooOo,000o0%uo00no TPEOOODOOOOOO
O0000,000000000020%0000000000000000.

(1.9.66) 00 (1.9.7) 00000000000 ODOOO (FPOODODODO ADO
00)0,00000000.

oo, bbb ooooooouog
g,bgbbuodgbbodboobobuodobboobooobuoobboobobo
go.
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1.11 0O0O0ooooooogd

goddodoouoooouoooooouo, boooouoooo,ood
000000000000 (OO0 2000000000)0200000000
gddodododouooddooouoouoouoo. oouoo 20000
O000000,00000 (vorticity equation) O 0 0 0O O O (divergence equation)
goooo.

1.11.1 000004

gbbogbogbbodgbooobuoobboo,ggbooobuogboa
g.ugggooobobbo,ogobbbbodg 20000, gogoobbobodao
gobobuooobbo,0bbogobobuogobbooobbooo.bbod
gbbodboogobuogobboob,obboobooobuoobbuodobbo
O000. 0000,0000000000000D00000C({(=k-VxV)O
ggbboboooobb.buooooboobad,

1 Ov 10u u
= — =+ - . 1.11.81
a cos ¢ OX a8¢+atan¢ ( 81)

(0000000000000000000000. (1.7.23)0 (1.724) 000
0000000,000000000(V-V)V=V(V22)+(VxV)xV OO
ooo,

v oV

dt ot
000, f=20sin¢g0000000000000. 0000n=f+¢0000,
D000 CkxVO-fkxVOOOOODOOO,nkxVOOD.O00,0000
00 k-VxOOOOOO. 0O0OO,0000000000000000000
000000000000.00,nkxVOODODOODOO,

+V(V2/2)—|—Ck:><V—i—waa—‘z/:—onp—fk:xV—l—F

k-[Vx(kxV)]=k-kV-V —VV-nk—(nk-V)V + (V- V)nk]

oooobo.gbovoviooooo200ooobooboooooonon
U, k- V=k-V=000O0O,0000200000.

go,bogoobboboogoon.

%+V~V7y+w% = —nV-V—l—kz-wa%—V+k'Vp><VOc—|—k~V><F (1.11.82)
VA Z
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O00,of/ot=0f/0-=000000000000, (1.11.82) 00000000
gogoobodoagd.

¢+ 1) ¢+ f)
:_(C+f)v.v+k;-vw><a—V+k-Vp><Va+k~V><F

0z
(1.11.83)

000,00000d(C+f)/at0000. 00000000000 0O0O0O0OOO
ggbbobuoooobboooo,buoooobbog.

1.11.2 00000

odoopooooobOoOoO0,30000000000 Vs-VaOO0O0O0,00d
oo pp=VvV.-viiooudoooooooooooo. boooooooooo,
1 Ou 10v w

voV= acosgba—'—a%_atan(b

goo.

pooooobobobobOobOo,0boboboboboboboboboo
ggbob.odg,bbbuoooobbobuoooobood.
oD ov oD

= TV AV VIV (fex V) + V= +w—— (1.11.84)

—— V- (aVp)+V-F

gogbbboogbbbuoag,bbbuoodbbbuoodobbb,o0bbbod
gobobuoogobbooobbuooobbooobbooo.bbo,oobbod
ggboodg

oD 0D ov
9 v VDt w v L D22
gr TV VP rwg Vet J(wv) (1.11.85)

H(kxV)-Vf—f(=-V-(aVp)+V-F

oo0. 000, Ju,v) = (0u/dx)(0v/dy) — (Ov/dz)(Ou/oy) DO OOOOODO
g.goooooooboobobb,bbbbb 2000000000000 ooon
gobobooooobobooooobobuooooobobob,oobbbooa.
oo, bboobbobbdoooooooboboooo
gogodooo.ooooooooo,dgdudououoooooboobooooon
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oo00. ()boooooOooo 2)UooooU0UOooDooooOoUOoDooO
0@3)0000000ooooO,0ooooooog.

(1.11.85) 0000 500000,0000000000. 0003000000
0000000000000000000O0O0OD0. 00000000 (1.11.83) 0
goo,gobobgoboobobooooooodcv-voouooooooob. ooo
bbb, oobbbooodgbobboooobbboooobon.

gdddddooodoououououoooob, i 00ouguug z0d
. ggobobbbbbodadg,ggooooobbbobboo. gg,ugd
gogbboodgupbbbooobboooobbooo.obob,oobbod
ooooooo -veonouoooD, k- VxVe=000O0O. 000O,00000
(1.11.83)0 0000000000000 k-VpxValOOOOOO.OO,000
00 (1.11.85) 0000000 -v*eO0O0O.
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